Name: Date:

Finding Midpoint Based on Coordinates
Find the midpoint of each set of coordinates.

f’_ Midpoint Formula The midpoint is at {E,EN
» X, tx ¥ 7Y, .l_
2, 2
Zs To find the midpoint of the -
coordinates (4,5) and (8,1), plug the ~
HEN values into the midpoint formula. E%
|
> 2 2 2 -
D 0,9)&(5,2) 1.
D (3,0)&(5,3) 2.
) (6,6)&(6,8) 3.
Y (7,7)&(6,5) 4.
) (6.10)&(8,0) 3.
9 (4.7)&(0,0) 6.
7 (9,4)&(10,1) 7.
» (8,7)&(3,2) 5
Q.
" (7,5)&(2,4)
10,
1) 10.6)&(3.5)
11.
W 2. 1)&(7,0)

(8,6)&(8,4)

www.skoolmaths.com




Finding Midpoint Based on Coordinates

Find the midpoint of each set of coordinates.

Answers
?fr Midpoint Formula The midpoint is at (ﬁ,?ﬂm
» X +tx ¥ T Y, s
2, 2 |
Iy EEEENE To find the midpoint of the t
[% coordinates (4,5) and (8.1), plug the :—:
] values into the midpoint formula. [5,3(
Sl . H
E|% - 4+8 5+1 EREEEPYE
g 2, 2 -
\_ J
D 0.9)&(5,2) 'ZLS% ) = (25,5.5) L (2.5,5.5)
D (3,0)&(5,3) %f";ﬁ) = (4,1.5) 2. (4, L5)
3) (6,6)&(6,8) zj# ) = (6,7) 3. 6,7)
Y (7.7)&(6,5) ?% ) = (6.5,6) s. _(65,6)
3 (6,10)&(8,0) (E’;’—S,L;]) - .5 5. (7,9)
9 (4.7)&(0,0) (‘%,? ) = (2,3.5) 6. _(2,3.5)
95,25
N (9,4)&(10,1) (gzm‘% ) = (9.5,2.5) 7. » 2.5)
8 (8. 71y&(3,2) %% ) = (5.5,4.5) g. (55,4.5)
N (7.5)&(2,4) %% ) = 45,45 0. (4.5,4.5)
W (0,6)83,5) (F5257) - 65,59 0. (6.5,5.5)
7 1y&7,0) %% ) = (7,05) n. (7,0.5)
P o (55 - 69 2._ (8,9
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Name: Date:

Finding Midpoint Based on Coordinates
Find the midpoint of each set of coordinates.

Midpoint Formula The midpoint is at (6,3).
X; + X, ¥ TY, 4 .
2 ., 2

To find the midpoint of the
coordinates (4,5) and (8,1), plug the

values into the midpoint formula.

4+8 5+1

2, 2
D&, L
D (8,1)&(3,9) =
D (4,5)&(4,7) 3.
Y (4,10)&(5,5) 4
) (4,10)&(7,4) 3
9 (0,9)&(10,0) 6.
D (4,7)&(7,9) 7.
8 (10,6)&(9,10) -
) (8,0)&(5,2) ?
19 (1,6)&(6,10) 10.
D 4,9y&(2,9) L.
12) (1,6)&(0,7) 12
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Finding Midpoint Based on Coordinates
Find the midpoint of each set of coordinates.

Answers
Midpoint Formula The midpoint is at (6,3).

4 X, +% ¥, tV, A

RN 2, 2 |

s coondinats (45 an (5.1, pg h 1

] El% values into the midpoint formula. [_5,3{
= 4+8  S5+1
TP

Y aneay (H50) - A L (1,8)
P s.ei.9 (5252) - 6509 . (5.5,5)
D (4,5)&(4,7) (%?) = (4,6) 3. (4, 6)
Y (4.10)&(5.5) (z%‘m;s ) = (4.5,7.5) s. (45,7.5)
Y (a10)&(7,4) (S Y <659 s (5.5,7)
6) (0,9)&(10,0) (nzm‘g%n ) = (5,4.5) 6. (5,4.5)
N (4,7)&(7,9) (?,? ) = (5.5, 8) 7. (5.5, 8)
8) (10,6)&(9,10) (lﬂ;‘gﬁzlﬂ ) = (9.5, 8) . (9'5 2 8]
9 (8,0)&(5,2) (?%) = (6.5,1) 9. (6‘5’1]
1) 1.6)&(6,10) 1;"—6%) - (35,8) 0. (35,8
11) (4,9)&(2,9) (4%#) = (3,9 11 (3-"9]
12) (1,6)&(0,7) (%% ) = (0.5,6.5) 12. {0-5 56-5]
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